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Thm D\ve,rcyzmc& of Rodial Vector Fields

T Flxyi2d can be written as [= \I\
where T = <ty 2>, then v F= 25|

‘Radial* because |$|—'=«YZ‘1+\/‘Q+Z';TI s the vadius of a sphere.
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Exl Find the dive,r‘caﬂ,nce_ of 5=(xz_, -y ,x\/a>.

diw = %[xz—_l+ %[—\)ﬂ + %[xxlz.]
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Figure 17.40



Exd Find the curl of E
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Ex3 Show div (f F)=fdvF + Fe VAR
Nrite F=4{P, Q, R for the component Functons.

dv(®FY = div (£ <P a, )
= div ((£P, £0, £RD)

= AT %[{-’ Q] + = LER]  — all product ruks
= (&P £R)+ (L, + Q)+ (RR+ TR

:P(PX+&7+TZ7_S v (8, P+P&‘r92>

b

=P(HPr 40 FR) (P 0+ £R)
:Q(Vo F) + (4@,9—\1)92 = 5
=t (Cl\\/ FB i V@ [:
\\ﬂ_’- Girodient Dfle.rc&ax\c.e__a C{B‘—' \ .
%}FCLC&'? V'P diVF‘—V'F C/u-(‘l]:‘: VXF
wncHon o "ol =Y o ,
npuk funchion of |\ vector field vecter field
output  vector Lield functon of vector Lield

geveral veriobes



	Page 1
	Page 2
	Page 3

